Review of Trigonometry =~ Memorize!
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{dentities:

I.*  sin"O4cos =1,
l+tan’ @ =sec’ 8, (dividing both sides of #) by cos” 8 and rearranging terms)

!J

3 l+cot” @ =csc’ 0 (dividing both sides of #1 by sin’ 0 and rcarranging terms)
4.* sin20 = 2sinfcosf
5% 0820 = cos’0 —sin’g
6. cos28 =2cos' 8 -} (substituting 1 —cos’ @ for sin* 8)
7 cos28 = 1 -2sin’ (substituting 1 —sin’* @ for cos’ 8 )
1+ cos28 .

8. cos* P = EC (solving equation 6 for cos’ 8)

2 1 -cos20 ) ) .3
9. sin“f = ~——7—— (solving equation 7 for sin” 0 )




